
A2

I bought two ________ from the store.

Answer: ___________________

She needs three ________ for her project.

Answer: ___________________

We have five ________ in our garden.

Answer: ___________________

They bought six ________ for their party.

Answer: ___________________

He has seven ________ in his collection.

Answer: ___________________

You can find eight ________ in that box.

Answer: ___________________

There are nine ________ on the shelf.

Answer: ___________________

We saw ten ________ in the zoo.

Answer: ___________________

She bought eleven ________ for her friends.

Answer: ___________________

They have twelve ________ in their car.

Answer: ___________________



Answers

I bought two ________ from the store.

Answer: books

She needs three ________ for her project.

Answer: pens

We have five ________ in our garden.

Answer: flowers

They bought six ________ for their party.

Answer: balloons

He has seven ________ in his collection.

Answer: coins

You can find eight ________ in that box.

Answer: cookies

There are nine ________ on the shelf.

Answer: candles

We saw ten ________ in the zoo.

Answer: elephants

She bought eleven ________ for her friends.

Answer: postcards

They have twelve ________ in their car.

Answer: cup holders


